Development of Simulation System on Influence of Wheel Alignment
on Running Performance

Shuji Nishiyama

Wheel alignment is shown how to assemble each part which composes the suspension and the
steering wheel system in a car. The wheel alignment is composed by various angles such as caster,
camber, and toe angle, SAI, included angle, rotation angle, set backing, geometrical drive axle, rear
wheel cambers, and rear wheel toe angle. This research theoretically clarifies the influence of toe and
camber angle of vehicle, especially the influence of both camber angle and toe angle on the running
stability of a car is investigated numerically. We developed simulation system to be able to calculate
the performance of car stability. And, we will introduce the best value of wheel alignment and thow to
set up these of each wheel of a vehicle.
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